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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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Explain the Law of Diminishing Marginal Utility.
Discuss its importance.
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Explain the Law of Demand. What are the exceptions
to the Law of Demand ?
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Discuss the meaning, nature and scope of micro
economics.
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How are price and output determined under
monopoly ? Show that under monopoly price is higher

and output smaller than under perfect competition.
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Section-B / Yis—4

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :
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questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Mention the various features of perfectly competitive
market.
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What are external economies ?
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Why demand curve for a Giffen good has a positive
slope ?
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What is the difference between explicit and implicit
cost ?
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Distinguish between ordinal number and cordinal
number.
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What is market price ?
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7. Define the term income effect.
I Y91 DI IRAT BIFIY |

8. Explain the term ‘Selling Costs’.
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Section-C / YVs—TT

(Objective Type Questions) / (A&ITS )

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.
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1. Which of the following is a micro economics
statement ?

(@) the real domestic output increased by 2.5% last
year.

(b) unemployment was 9.8 percent of labour force
last year.

(c) the price of wheat declined last year.
(d) the general price level increased by 4% last year.
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In the simple circular flow model :

(@) households are suppliers of resources

(b) businesses are suppliers of final products

(c) householders are demanders of final output

(d) All of the above are true
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“When the price of a product rises consumers shift

their purchases to other products whose prices are now
relatively lower.” This statement describes :

(@ an inferior goods

(b) the rationing function of prices
(c) the substitute effect
(d) the law of supply
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If consumer incomes increase, the demand for product
X:
(@ will necessarily remain unchanged
(b) may shift either to right or left
(c) will necessarily shift to the right
(d) will necessarily shift to the left
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If marginal revenue is ¥ 6 and marginal cost is X 4, the
firm seeking to maximise profits should :

(@) increase its output

(b) reduce its output

(c) rise its price

(d) None of the above
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Indicate whether the following statements are True or False.
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6.

Oligopoly is an industry with large number of suppliers
but few buyers.
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7. The lower value of the commodity produced, the lower
the wage earned by labour, ceteris peribus.
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8. The shut down point is where the firm cannot cover its
fixed costs of operation.
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9. The average fixed cost increases as the marginal cost
curve is above it.
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10. Society would be unequivocally better off without
monopolies.
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